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SECTION B
Answer only TWO questions from this section

ooa) Express «os3 o interms of cos A only.

(b} The bearing of'a point P from a point £ is (6km, 305") and the bearing of a point R
from /s (8 km. 035"),

I Find the bearing of the point R from (),
1. Hence, find the angle between the line PR and QOR.

-

(a) i, Using a scale of 2 ¢cm to 20° on the x-axis and 2 em 10 0.5 unit on the y-axis, draw
the graph of f:x — 3sinx + 2 cosx for 0° < § < 180° at the intervals of 20°.
1. Use the graph in (i) to find, cortect (0 the nearest degree, the truth set of:
a 3sinx+2cosx+1=0

B 6sinx+4casx—2=0

(b) Solve the equation tand = 2sin 8. for values of 8 from 0° to 360° inclusive.
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fa) If sin 4= 5- and CL‘-‘SB']*-:;. find the values of sin(4 + B) and cos(4 + 8} when
i. A and B are both acute, 2« L
ii. A 1s obtuse and B is acute. R ) N
. : L
(byin APQR, p=25mm, g =40mm and ZR =82". Find: i. », ii. ZP and iii.Z0, to one
decimal place.

4. (a) Given that y =3sin{2x + x/2), find the amplitude, period and phase shift. Hence, sketch the
graph for —7 S x <,

(b) Anarc AP of acircle, centre (J. subtends an angle of & at O. Find an expressions irf terms
of & and the radius, r. for the length of the arc 4P and the area of the sector O4P. (see the

figure below)
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